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BBEJIEHUE

Pacmipenne  MeXIyHApOIHBIX  CBA3CH  JIENACT HMHOCTPAHHBIA  SI3BIK
BOCTPEOOBAaHHBIM B  MPAKTUUYECKOW M UHTCIUICKTYyalbHOM  JCSTENbHOCTU
cnenuanucta. Llens mpodeccruoHaNbHO HANPaBIEHHOTO OOYYEHHS HHOCTPAHHOMY
S3BIKY  OTpEJENeTcs COIMAIbHBIM 3aKa30M o0O0IlecTBa W TOCyAapcTBa IO
OTHOIIEHUIO K S3BIKOBOMY OOpa3oBaHHIO paboYMxXx KaapoB C  yYETOM
00pa30BaTeNbHON KOHIENINHN YI€OHOW TUCIUIUINHBI « THOCTpaHHBIN S3bIK.

TunoBas yueOHas nporpamMma 1o yuyeOHou qucuurinie « MTHOCTpaHHBIN S3bIK
(mpodeccuonanbHas JIGKCHMKA)» (J1ajiee — mporpamMma) MnpeaycMaTpyuBacT HU3y4YeHUE
npoecCHOHaNbHO HAMPABIEHHOTO Kypca ¢ ydeToMm mnpoduis npodeccruoHanbHON
MOJATOTOBKH CIEIUATUCTa U KOHKPETHOU KBATH(UKAIINH.

[IporpamMma cocTaBieHa C YYE€TOM CBSI3U €€ Y4YeOHOro matepuaia c
NPOrpaMMHBIM ~ Y4€OHBIM  MaTEpPHAIIOM  CHEIUATBHBIX  YYEOHBIX JAUCIMIUIUH
npoecCUOHaNBHOTO KOMIOHEHTa. [IpodeccnoHalbHO HampaBIEHHBIA MOJIXOJ
OCYIIECTBISETCS MPAKTHUECKUM IOKa30M POJIM WHOSI3BIYHBIX 3HAHUW U YMEHHH B
Oyay1ieit mpodeccruoHaIbHOM AEATEIbHOCTH YUaIIuXCsl.

OCHOBHOI 1ENBI0 HM3y4YEHUS Y4YEOHOW IUCHMIUIMHBI «JHOCTpaHHBIN S3BIK
(npodeccroHanbHas JIEKCHKA)» SBISETCA (POpMUpPOBAHUE MNPOPECCHOHATBHOU
WHOSI3BIYHOW KOMMYHUKATHBHON KOMIIETCHIIMM B COOTBETCTBUU C MpoduiieMm
MOJTOTOBKH, KOTOpPasi MOKET ObITh NPEICTABIIEHA COBOKYTHOCTBIO:

3HAaHUU JIEKCMYECKOI0 M IpaMMaTHYeCKOro MHUHHUMYMa, HEOOXOAMMOIO MJis
pelieHust npohecCUOHANIbHBIX 33a4 CPECTBAMU HHOCTPAHHOTO SI3bIKA;

KOMMYHUKATHUBHBIX yMEHHH B YETBHIPEX BHJJAX PEUECBOU JEATEIHLHOCTH
(BocripusiTHE M NOHHMMAaHUE PEYM Ha CIyX, TOBOPEHME, YTEHHE, MUChbMO) B cdepe
poheCCHOHAIBHOTO OOIIEHNS;

NOHMMaHUsl I1IEHHOCTHM HWHOCTPAHHOIO $3bIKa KakK CpeACTBa IO3HAHUS U
oO1ieHus B poeCCUOHATILHON JIeATEeIbHOCTH;

TOTOBHOCTM K CamMoO0JaJaHhi0 B O0JAaCTM HWHOCTPAHHOIO s3bIKa B
COOTBETCTBHH C TPeOOBAHUSIMU NMPODHECCUOHATBHOM NESITEIHLHOCTH CIIEIUAIUCTA.

JlocTkeHre Lenu B €IMHCTBE €€ 00pa3oBaTeIbHOrO, Pa3BUBAIOIIETO M
BOCIIUTATEIBHOTO ACIEKTOB MPEIoaraeT pelieHne KoMIUIeKca 3a1a4:

(opMHpOBaHKE HABBIKOB UYTEHUSI MHOCTPAHHBIX TEKCTOB MPO(ecCHOHATHHOU
HAIpaBJICHHOCTH, TOHMMAaHUS BBICKA3bIBAHUA B COOTBETCTBUU C CHUTYallHel
po(hecCHOHANBFHOrO0 OOLIEHHS ¢ YYETOM HalMOHAJIBHO-KYJIBTYPHBIX 0COOEHHOCTEN
peUeBOro NoBeICHUsI HOCUTENIEH sSI3bIKa; YIIIyOJIEHUE U COBEPILICHCTBOBaHHE 0a30BbIX
S3BIKOBBIX ~ 3HAHMW, pAcIIUPEHHE UX MNPOPECCHOHATBHO OPUEHTHUPOBAHHOU
COCTAaBJISIOIICH;

pa3BUTHE YMEHUH HCIOJB30BaTh pPa3MyHble MPHUEMBbI, CpEACTBA U
BO3MOXKHOCTH [UJIsl CAMOCTOSITEIbHOTO HW3Y4YEHHs] HMHOCTPAHHBIX SI3BIKOB M HX
npuUMeHeHus1 (ayIuo — WIM BUAEOMAaTepuasbl, CPeACTBA MaccoOBOM HH(pOpMaIH,
KOMITbIOTEPHBIE y4eOHbIE POTPAMMBI U 1Ip.);

(bopMHpOBaHUE YBAXKEHHS K A3BIKY U KYJIBTYpPE HOCUTENEH S3bIKa, MOTUBALIUU
K TIOBBIIICHUIO YPOBHS BJAJCHHUS HWHOCTPAHHBIM SI3IKOM B COOTBETCTBHM C
npoecCUOHaNbHOMN eI TeIbHOCTH.



[Iporpammoil ompeneneHbl LEAM MO KaXKIOH TEeME€ U CIPOTHO3MPOBAHBI
pe3yNbTaThl WX JOCTWKEHHUS B COOTBETCTBHHM C YPOBHSMH YCBOEHHUS YYEOHOTO
Marepuarna.

ConepxaTenbHOE JEKCUYECKOE HAMOJHEHUE TEM BTOPOTO pasjena Jjisl Kaxaou
CIEIUAIBHOCTH (HANpaBJICHUE CIEIUATbHOCTH), CHElUaN3allui MMPOU3BOJAUTCS Ha
OCHOBE BBISIBJICHHSI OCHOBHBIX CUTYaIluii TPO(PEeCCHOHAIEHO ACSITEIILHOCTH (TIPEIMET,
cpenctBa  ®w  chepa  mpodecCHOHATBHON  ACSITENBHOCTH);  TPeOOBaHMIA
00pa3oBaTeIbHOTO cTaHjapTa u KBTI (PUKALIMOHHBIX XapaKTePUCTUK
CHeUaIbHOCTH; TpeOOBaHUU K 001IenpodecCuOHATBHBIM, CIICIIUATbHBIM 3HAHUSIM U
YMEHUSIM YYalluXcsi U HOCUT BapUATUBHBIA XapaKTep, YTO MO3BOJISIET YUUTHIBATH
npoduiib Oyayiien cnenuaibHOCTH (HalpaBiIeHUE CIeUATbHOCTH), ClIeUaIn3alun
U yUpeXKJIeHUs 00pa3oBaHuUs

[Iporpammoii ompeneneHbl Heau U3y4eHUs] KaKJIOH TeMbl, CIPOrHO3UPOBAHbI
pEe3yNbTaThl WX JOCTMDKCHHS B COOTBETCTBHHM C YPOBHSMH YCBOCHHUS YYCOHOTO
Marepuarna.

B pesynbrare wusydeHus ydyeOHOW mucCHUIUIMHBI “VIHOCTpaHHBIN S3BIK™
y4aIumecs J0JKHbBI

3Hamb HA YPOBHEe NPeOCmAaBeHUs

pOJIb U1 MECTO MHOCTPAHHOTO $3blKa B MPOPECCHOHATLHOM CTAHOBJICHUU U
Pa3BUTHH JINYHOCTH;

CTpaHOBEIUYECKYyl0  WH(pOpMaIuioo,  O0OTalalollyl0  COIMAIBHBIA U
poheCCUOHAIIBHBIN OTIBIT;

3HAMb HA YPOBHE NOHUMAHUSL

3HAUYEHHUE aKTUBHOTO JIEKCMUYECKOTO MUHUMYyMa 10 M3YYCHHBIM T€MaM, B TOM
YHCJIe OIEHOYHOM JICKCUKH, PETUTHK-KITUIIE MPOGEeCcCHOHATBHOTO PEYEBOT0 ITHKETA;

3HAUCHUE TPAMMATHUYECKUX  SBJICHHM, OTMEUYEHHBIX B  COJCpPKAHUHU
MIPOTPAMMBI;

SI3bIKOBBIC CpEJCTBA M TMpaBWJia PEYEBOTO IMOBEACHUS B COOTBETCTBUMU CO
chepoit 001IeHHS U COIMATBLHBIM CTaTyCOM MapTHEPA MO0 O0YUECHUIO;

ymems:

YTEHHE: TTOHUMATh TEKCTHI MPOGECCUOHATILHOW HANpPaBJICHHOCTH, UCIIOIB3YS
OCHOBHBIE BBl 4YTCHHUS (O3HAKOMHTEJIBHOE, H3y4arwllee, IOUCKOBOE /
IIPOCMOTPOBOE); OIICHWBATh Ba)XHOCTh W HOBHU3HY HW3BJICUCHHOW WH(OOpPMAIUU |
BBIpaXaTh CBOE OTHOmeHHME K Hell. OO0béM Tekcra, MNpeaHa3HAYEHHOTO IS
o3HakomutenapHoro ureHus, 3000-4000 medaTHBIX 3HAKOB C IpoOemamu. Bumsn
TEKCTOB: CTaThU, TEKCTHl MPO(ECCUOHATHHOM HAIMPABICHHOCTH, pPEKJIaMHBIC
MPOCTICKThI, TEXHUYECKUE TOKYMEHTHI U JIP.;

TOBOPEHHUE:!

BeCTH auanor ( JUaJor-paccipoc, IUaJor-oOMeH, IUaNor-MoOYyXKIEeHHE K
JEHCTBUIO, STUKETHBIA TUAJIOT U X KOMOWHAIIMK) B CUTYalHsIX MPOGeCCHOHATBHOTO
OoOlIEHUsI B paMKax M3y4eHHOM TeMaThke ( KOJIMYECTBO PEIUIMK KaXJ0ro
cobeceqHrKka He MeHee 7-8 (pa3z);

OecenoBaTh, paccKa3blBaTh, PAaCCYkJaTh B paMKax HU3y4eHHOW MpPOOJIEeMaTUKU
U TEMATUKH;

OMKCHIBATH U CPABHUBATH MPEIMETHI, PaKThI SIBJICHUS;



JienaTh cooOIIeHUs MPOPECCUOHAIBHON HAITPABICHHOCTH;

COCTaBIISITh MOHOJIOTHYECKOE BBICKAa3bIBaHWE — OINHCAHHUE, CpaBHEHHE,
MTOBECTBOBAHUE, PACCYXKACHUE, OIEHOYHOE CYyxAcHUE (00bEM BhIcKaszbiBanus 15-20
dpa3, npaBUIHLHO 0(OPMIICHHBIX B SI3IKOBOM OTHOITICHUH);

BOCIPUATHE U TIOHUMAHUE PEeUYH Ha CIyX;

OTHOCHUTENIFHO TIOJHO M TOYHO TOHHMMATh BBICKA3bIBAaHUS COOECETHHUKA B
pacnipoCcTpaHEHHBIX CUTYalUAX MPOQPECCHOHATBHOIO OOIICHUS; TOHUMATh OCHOBHOE
coJlep)KaHUEe M W3BJIEKAaThb HEOOXOAMMYI0 HWHGOpMAIMI0 W3 3BYYalllUX TEKCTOB
npoecCHOoHaNbHON HANpPaBJICHHOCTH, colepkalux He MmeHee 3-4% He3HAKOMBIX
CJIOB, 3HA4YEHHE KOTOPbIX MOXKHO TOHSATH C TOMOIIbIO TEKCTOBOW WIIU
KOHTEKCTYaJIbHOM JTOTaJIKH (IJIMTEIHHOCTD 3ByUYaHHUe TeKCTa 2,5 MUH);

NUCbMEHHAsSI peUb:

COCTaBIISITh U OQOPMIIATH MUCBMEHHOE COOOLIEHHE B paMKaxX H3y4aeMou
TEMBI, OOBSIBJICHHE B COOTBETCTBUH C HOpPMaMH, MPUHITHIMU B CTPaHE H3ydaeMOro
SI3bIKA, JENIaTh BHIMMMCKH U3 TEKCTOB.

B mporpamMe TmpHBEACHBI KPUTEPHUH OICHKHA pPE3yabTaToB ydeOHOU
NEeATEIbHOCTH YYallluXcd MO y4eOHOM IUCHUIUIMHE, pa3pabOTaHHbIE HA OCHOBE
NecATUOANIbHOM  IIKajdbl W [OKa3aTeled OUEHKH pe3yJbTaTOB  y4eOHOM
JESITEIIbHOCTH O0YUaIONUXCS B YUPEKICHUAX CPEIHETO CIENUATbHOTO 00pa30BaHus
( mocraHoBieHue MuHucTepcTBa oOpazoBanus PecnyOnuku bemapyce ot

29.03.2004).

TPEBOBAHMA K IPAKTUYECKOMY BJIAJAEHUIO BUJAMU
PEUYEBOU AEATEJIBHOCTHU

Bocnpusmue u nonumanue peuu Ha cayx
Pa3BuTne HABBIKOB M YMEHMI CMBICIOBOIO BOCHPHUATHS YCTHOM MHOSI3BIYHOM
peurn B CUTyauusix MNpOQPEeCcCHOHATLHOIO OOIIEHUS : BBIIEIATH OCHOBHYIO
uH(OpMaIUI0 B BOCIPUHUMAEMOM Ha CIIyX TEKCTE MPO(EeCCHOHATBLHOTO XapaKTepa;
OTHOCUTEIBHO  TMOJIHO  NpPUHUMATh  pedb  coOeceHMKa B CHUTyalUsX
11poheCCHOHAIBHOTO OOIIEHHUS.

Tosopenue

Jnanoruyeckas peyb

OBnafgeHue  TAKTHMKOW  TIOCTPOCHMS  Juajora B COOTBETCTBHU  C
KOMMYHUKATHBHOW 3a/aueii, pPEUYeBBIMH HAMEPEHUSMU COOECETHUKA C YYETOM
KOHKPETHBIX  YCJIOBHM  TPOGECCHOHAIbBHO  OPUEHTHUPOBAHHOTO  OOIICHUS C
cOOJII0ICHUEM HOPM PEYEBOTO ATUKETA, MPUHATHIX B CTPAHE U3Y4aeMOTI0O SI3bIKa.

Pa3BuTtne ymeHuii ydactBOBaTh B Oecene, 3ampaiidBaTh U OOMEHUBATHCS
nH(popMalel, BbICKa3bIBaTh M apryMEHTUPOBATh CBOIO TOYKY 3pEHHUs; OpaTh Ha
ceOs1 MHUIMATHBY B pa3roBOpEe; BHOCUTH TOSICHEHUsI, JOMOJHEHHUs; BbIpaKaThb
SMOLIMU Pa3JIMYHOTO XapakTepa.



MoHonoruueckas pedb

[TocTpoeHre YCTHOTO MOHOJOTHYECKOTO BBICKA3bIBAHUS B COOTBETCTBUHU C
KOMMYHHUKATUBHOM 33/1a4€CH.

Pa3Butne yMeHwmii genaTh OOINEHWE, COAEpXaIlue Hanboiee BaXKHYIO
uHpopmaruio 1o Teme / TpobiemMe MPOPECCHOHAIBHOTO XapaKkTepa; KpaTKo
nepeaaBaTh CoJAepKaHUEe MOJMYYCHHON WHQOpPMaNuu; paccyknatbh o ¢akrax /
COOBITHSX; JIeJIaTh BHIBOBI, OIICHUBATH (DaKTHI.

Ymenue

CoBeplIeHCTBOBaHME  BCE€X  BHUJOB  UYTEHHUS HAa  OCHOBE  TEKCTOB
npoecCHOHANBHOTO  XapakTepa.  Ydyamuecss  JOJDKHBI ~ MOHUMAaTh  TEKCThI
npo(eCcCHOHATIBHOIO XapakTepa € pa3HOM IOJHOTOW, TOYHOCTBIO M TIIyOMHOMU
MIPOHUKHOBEHUS B UX COAEPKAaHUE B 3aBUCUMOCTH OT BUJA YTCHUS:

O03HAKOMUTEJIbHOE YTEHHE — TOHMMAaThb OCHOBHOE COJAEpP>KaHUE HECIOXKHBIX
TEKCTOB NMPO(PECCUOHAIBHOTO XapaKTepa;

U3y4Yarolee 4YTeHHEe — IOJHO M TOYHO NOHHMMATh COJEP)KAHHE HECIOXKHBIX
TEKCTOB NMPO(PECCUOHAIBHOTO XapaKTepa;

MIPOCMOTPOBOE / MOUCKOBOE YTEHHE — HM3BJIEKATh HEOOXOAMMYIO (3HAYHUMYIO)
MH(OPMAIUIO U3 TEKCTOB NPO(ECCUOHATBHOIO XapakTepa.

[Ipu 5TOM yuamuecs OBJAACBAIOT YMEHUSMHU W3BJIEKAaTh HEOOXOAMMYIO
uHdopmaluio, nepepadaTeiBaTh €€, padoTas ¢ TAKUMU TEKCTOBBIMU MaTepHaaMH,
KakK:

TexcThl npodeccuoHaabHONW HaNpaBIECHHOCTH, B TOM YHCIIE PYKOBOJICTBA IO
AKCIUTyaTalli, MOHTaXy, PEMOHTY, TEXHUYECKHE WHCTPYKIHH, TEXHOJIOTHYECKHE
KapThl U T. 11.;

HAJIIIMCH HA SIPJIBIKAX, ’TUKETAaX, YIIaKOBKaxX M T.]I.

VYyamuecs oBaeBalOT yMEHUSIMH IOHUMATh TEKCTOBbIE MaTE€pPUAJIbIL:

npuberas (He mpuoderas) K UCMOJIb30BaHUIO CIIEIUAIBHOTO CJIOBAPS;

MCIIOJNb3Ysl MILTIOCTPALIUH, SI3bIKOBYIO IOTAJIKY;

MpUHUMAas BO BHUMaHUE CXOJICTBO TEPMUHOB B PA3HBIX S3bIKAX.

CoBeplIEHCTBOBAHUE YMEHHUS TOJb30BAThCs S3BIKOBOM M KOHTEKCTYaJIbHOM
JOTAJIKOM TPU UYTEHHWU TEKCTOB MPOPECCHOHAIBHOIO XapakTepa: MPOTrHO3UPOBAThH
CoJlep>KaHME TEKCTa IO 3aroJIoBKy, Hayally; HCIOJIb30BaTh TEKCTOBBIE OIMOPHI —
MO/13arOJIOBKHU, Ta0JMIIbI, TpaduKu, HIPU(PTOBBIC BBHIACICHNUS, KOMMEHTAPHUH, CHOCKU
U T.II.

Ilucvmennas peus

KoHcTpyrnpoBanre nMMChbMEHHOTO TEKCTa B COOTBETCTBHH C KOMMYHUKATUBHOMN
3aJavue.

PazBuTtne yMeHuit cooOmiaTh CBEJIEHUS O CBOEH OpraHuzaiuu B Qopme,
OPUHATOM B CTpaHe M3Yy4yaeMOIo $3blKa; COCTaBIATh WU OQPOPMISTH TEKCTHI
pEKJIaMHBIX  OOBSIBICHUH, JEJNOBBIX MHCEM MNPO(PECCHOHATBLHOTO XapaKTepa;
3aMoJHATh TUIIOBBIE (DOPMYIISPHI;

dbukcupoBaTh  HEOOXOAWMYIO  HMHGOpPMALMIO U3  MPOYUTAHHOTO  /
MPOCIYIIAHHOTO B CUTYaIUsAX MPO(eCCUOHATBHOTO HHOA3BIYHOTO OOIIEHUSI.



SI3BIKOBOM MATEPUAIJI
Opdorpadus

CoBepiieHCTBOBaHHE  Opporpa@uueckux  HABBIKOB MPUMEHUTEIBHO K

A3BIKOBOMY MaT€pHaly TEM IPOrPAMMBI.
donHeTuKa

CoBeplIIEHCTBOBAHUE CITYXO-TIPOU3HOCUTEIBHBIX U PUTMUKO-UHTOHAIITUOHHBIX

HAaBBIKOB.
Jlekcuka

Pacmmpenue npoayKTHBHOIO M PELENTHBHOIO JIEKCHMYECKOIO MHUHUMyMa 3a
CUET JIEKCUYECKUX CPEJCTB, OOCIYKMBAIOIIUX CUTyallud MpoPecCHOHAIBHOIO
pPEUYEBOr0 ASTHKETA, OTPAKAIOLUIUX OCOOEHHOCTU KYyJIbTYpbl CTPaHbl H3y4yaeMoOro
A3BIKA.

Hakomienne u pacmimpeHre NOTEHLHATBHOIO CIOBapsl 3a CUET OBJIAJACHUS
CJIOBOOOpA30BaTEIbHBIMU MOJICIIAIMH, NHTEPHAIMOHAIBHON JIEKCUKOM.

['pammatnka

CoBeplIeHCTBOBaHUE TPAMMATHYECKUX HABBIKOB.

Pacumimpenue akTMBHOTO M PELENTHBHOIO T'PAMMATHYECKONO MUHUMyMa 3a
CUET IPaMMaTHYECKUX CPEICTB, OOCIYKHMBAIOLIUX CUTYallUH MPOPECCUOHAIBHOIO
oOLIeHUS.

I'pamMmmaTnueckuii maTepuall:

KaTerOpUH YHCIIA CYIIECTBUTENBHOIO;

CTENIEHU CPABHEHUS NIPHUJIaraTeIbHbIX U HAPECUUH;

IJ1aroj; BUAMMO-BPEMEHHbIE (POPMBI TJ1aroJja; MacCUBHbIN, aKTUBHBIHN 3aJ10T;

HAKJIOHEHUE TJ1aroJa;

MOJIAJIBHBIE TJIArOJIbl;

npsiMasi 1 KOCBEHHAs! peyb;

CII0BOOOpa3oBaHUeE.



TEMATHUYECKHUU ITJIAH

Paznen, tema KonuuectBo
y4eOHBIX
4acoB

BBenenue 1

Paznien 1. BBOAHO-KOPpPEKTUBHBIH KYpC 3

1.1 Jlekcuko-poHeTnyeckuii u opdorpaduueckuii MaTepual

Paznen 2. OcHOBHOM Kypc

2.1 KomMnereHuu crieruaincta 16

2.2 [IpodeccronanbHOE CaMOOIPEACIICHUE TUYHOCTH 2

2.3 O6opynoBaHue, UHCTPYMEHTBI, IPUCTIOCOOJIEHHUE U

MaTepHuabl (CbIPbE) 10

2.4 IIpon3BOACTBEHHBIE MPOLECCH] U TEXHOJIOTUHN 3)

Obs3amenbHass KOHMPOILHASL paboma 1

2.5 PecypcocOeperaroiiiye TeXHOIOTUH. DKOJIOTuIecKas

0€30MacHOCTh MPOU3BOJCTBEHHBIX MPOIIECCOB 2
HTroro 40




OBIITUE METO/IHYECKHE PEKOMEH/AIIUHU 110 H3YYEHHIO
JUCIHHITJIMHBI H BRITIOJIHEHHUIO JIOMAIITHEH KOHTPOJIbHOH
PABOThI

OcHoBHO# (hopMoOl M3ydeHUsS Y4eOHOW MUCHHUIUIMHBI «AHOCTpaHHBIN S3BIK
(mpod.Jiekcuka)» SBISETCS caMOCTOsITeNbHAs paboTa yJamuxcs HaJ y4eOHUKaMU U
y4eOHBIMU MOCOOMAMHU. YUeOHbIM IUJIAHOM MPEAYyCMOTPEHBI YCTaHOBOYHOE U
0030pHOE 3aHATHE. YCTAaHOBOYHOE 3aHSITHE TMPOBOJUTCS TMepe]] H3yuYeHUEM
JUCHUTUIMHBI C 1EJIbI0 03HAKOMIICHUS YYaIIUXCs C €€ COACPKAHUEM U METOJUKOU ee
nanbpHeimero uzydeHus. O030pHbIEe 3aHATHS MPOBOJATCA B MEPHO] JaOOpPaTOPHO-
HK3aMEHAIMOHHOM CECCHMM TOCJE CaMOCTOSATEIBHOTO M3YYECHHS  y4YalluMUCS
JTUCHUIUIMHBL, C IeJIbI0 MOMOYb CHCTEMAaTH3WpOBaTh 3HAHMS, IOJyYCHHbIE B
IIpOLIECCE N3YUYEHUS, U OTBETUTHh HA BO3HUKILIME IIPU 3TOM BOIIPOCHI.

JIOMalIHIOI0 ~ KOHTPOJIbHYIO  padOTy  cleayeT BBINOJHATH CTPOro B
COOTBETCTBHUU C YCTAHOBJICHHBIM BAPUAHTOM.

3ajaHusi, BBIOJIHEHHBIE HE IO CBOEMY BapHaHTY, HE 3aCUUTHIBAIOTCA U
BO3BPAILAIOTCS YYallleMYyCH.

KontponrHasi paboTa BBINOIHSAETCS B COOTBETCTBUU C TpeOOBaAHUSIMHU
Cranngapta opranm3aruu CTO BI'TIK 001-2011.

OO61mue TpeOoBaHMs K TEKCTOBBIM JJOKYMEHTAM:

TUTYNBHBI JIUCT SABJIAETCS MEPBBIM JMCTOM KOHTPOJBHOW pabOThl H
oopmiisieTcss B COOTBETCTBUU C MPUIIOKEHUEM J| — nis goMamiHed KOHTPOJIbHOU
paboThl nanHoro crangapta. (B ckoOkax Ha mpuMepax BBITIOJHEHHUS yKa3aH pa3Mmep
mpudra). TecTOByr0 YacTb KOHTPOJHHON palOOThl BBHITIOJHAIOT JIIOOBIM U3
CIICTYIOIINX CTIIOCOOOB:

- mammHonucHbIM o ['OCT 2.106: TekcT medaTaeTrcss Ha OJHOW CTOpPOHE
nucta yepe3 1 uatepsan, mpudt Times New Roman, pasmep 14, BeIpaBHUBaHHUE 110
mupuHe, orctyn 1,25;

- pykonucHbIM YepTexHbIM mpudTom nmo 'OCT 2.304. Cnemyer mucarthb
YETKO.



Tadauna 1151 BbIOOPA BAPUAHTA KOHTPOJILHOM PadoThI

[Tocnenusist mudpa HOMEpa 3a4ETHOW KHUKKA

[Ipeanocneanss mudpa HOMEpa 3a4€THON KHUKKH
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Bapuant 1

1. IIpouuTaTh MepeBecTH TEKCT NUCHMEHHO.
WHAT IS ELECTRONICS?

Electronics is a rather young science. It belongs to the twentieth century.
Within a short period it has become a powerful means of progress. Electronics
surrounds us everywhere. Television, radio-receiving, taperecording — are all based
on electronics. The ideas of electronics are embodied in computer technology and
means of automation, biology and genetics which have advanced biotechnology as a
new branch of the national economy. Electronic computers are widely used in
scientific research and different fields of industry. Very complicated electronic
systems control the work of huge plants and power stations; even whole industries are
controlled by electronic robots. Planes and rockets also electronically controlled.
Electronics has sharpened our vision and chance to see the microworld more clearly.
It helps us discover new and puzzling phenomena of nature. Due to electronics the
first man-made sputnik was launched into space, and now man has already set his
foot on the Moon, sends probes to distant planets. Radioelectronic systems ensure
reliable communication with space probes at distances of millions of kilometers,
relay telephotos of distant planets. The greatest application of electronics is in the
field of communications. The range of radio communication in space is extending
more and more. There is every reason to believel that radio links may be set over
distances of 100 million kilometers or even more. Now we cannot imagine our life
without electronics. But it all began with the invention of radio. It was Russian
scientist A.S. Popov who discovered the principles of wireless communication that
finally led to the development of electronic tubes for use in various communication
devices.

2. CocTaBUTh MMCbMEHHO 5 BONPOCOB K TEKCTY.

3. PackpbITh CKOOKH, HCIOJIb3YS IJIAr0J1 B MACCUBHOM 3aJ10Te€.
I[Mpenpnoxenns nepeBecTH.
1. The telegram (receive) tomorrow.
2. 1 (give) a very interesting book last week.
3. He always (laugh at).
4. Nick (invite) to the conference last week.
5. Flowers (sell) in the shops.
6. This text (translate) from 5 p.m. till 7 p.m. yesterday.

4 . PackpoiiTe CKOOKH, YIOTPeOJIsisl 1JIaroJibl B Tpedyromieiicsa popme
YCJOBHOT0 HakJIoHeHud. [Ipensoxkenus nepesectu.

1.  Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.



3. The teacher said, “I’ll begin the lesson as soon as Jack

(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

5. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

S.BcTaBuTh B NpeAJIoKeHHE HAPeYHe WM NPWIarareJibHOe B HYKHOM
creneHu cpaBHeHus. IIpeayoxkeHus nepeBecTu.
It's becoming (hard) and (hard) to find a job.
Your work isn't very good. I'm sure you can do (well) than this.
You're standing too near the camera. Can you move a bit (far) away?
Martin drove (slowly) than usual.
We have to walk (fast) than this if we want to catch the train.
This word is (widely) used in spoken English than in written.

SO~

6. 3anucatsp S -6 npennoxenuit Ha Temy «Iloyemy s BbIOpaJ JaHHY IO
npodeccuro?»

Bapuanr 2

1. IIpounTars nepeBecTH TEKCT NMCbMEHHO.
THE DEVELOPMENT OF RADIO

Many developments contributed to the floweringl of commercial radio. By
1930 wireless telegraphy- was more than 50 years old. Carrier systems were widely
used to multiplex voice signals for long-distance transmission. Engineers made radio
an electronic success. If one development paced the growth of radio more than any
other,3 it was that of the vacuum tube. The triode had been invented by de Forest as
far back as 1906, and by 1930 it was generally' recognized that improvements in
every aspect of transmission and reception of radio signals could be attained most
easily by improving the vacuum tube. So the tubes and other equipment advanced
side by side.

At the right time the superheterodyne receiver emerged, for example. This
circuit led to larger coils and less shielding for the entire tuning system. When it
became necessary to compensate for oscillator drift, bimetal temperature-
compensating capacitors moved to centre stage.4 One after another the technical
challenges were met.5

Commercial radio broadcasting began with medium-wave transmitters. These
had wavelengths of 300 to 500 meters and powers of about 3 kilowatts, but were not
reliable beyond 40 kilometers.

Relay stations were set up to retransmit programs to localities outside the range
of the main stations. Transmission lines carried programs from one relay centre to
another.

An important development was short-wave transmission, the use of
wavelengths of 10 to 100 m. It relied on reflection from ionized layers in the upper
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atmosphere and could cover thousands of miles.

The fidelity of amplitude-modulated radio improved steadily.

The high-gain triode had been fully developed in 1927. The development of the
four element tetrode occurred about that time and the resulting increase in tube gain
improved receiver sensitivity. Then receiving and small-power rf pentodes were
invented and the result was a tube that had very high gain, high plate resistance, and
uniform characteristics. This was the most productive era in the history of vacuum
tube development.

2. CocTaBUTBb 5 BOIIPOCOB K TEKCTY.

3. PackpbITh CKOOKH, HCMOJIb3YS IJIAr0J B MAaCCUBHOM 3aJ10Te.
IlepeBeanTe npenioKeHus.

1. Our mother already (give) a present.

2. The letter (send) before they arrived.

3. His new book (finish) by next year.

4. Many houses (burn) during the fire.

5. Doctors (give) a new pay rise by the government.

6. Usually I (pay) my salary twice a month.

4. PackpoiiTe CKOOKH, YOTPeO.isisi IJ1arojibl B Tpedyromieiicsa popme
YCJIOBHOT0 HaKJIoHeHus. IlepeBeauTe npeasio:keHus.

1.

2
3.
4.
3)

If the plane had left on time, they (be) in Minsk now.

If they hadn’t walked 40 km, they (not / be) exhausted now.
What would have become of us, if | (come) to you then!'

He would have been scrupulous — if he (can) !

What is the answer if you (add) 17 to 75?

5. BcTaBuTh B npeJio;KeHue Hapeyue UK NpujiararejbHoe B HYKHOM
creneHu cpapHenus. IlepeBeanre npenyioxenus.

ST~ wWNE

Let me ask him. I know him (well) than you do.

Jim did (badly) in his examination than he had hoped.
Could you speak a bit (distinctly), please?

| don't play tennis much now. | used to play (often).

We should run (fast) if we want to catch the bus.

The Earth goes round the Sun (quickly) than the Jupiter.

6. 3anucatp S -6 npeasioxennii Ha Temy «Iloyemy 1 BLIOPaJI JaHHY IO
npodeccuio?»

1.

Bapuant 3

IIpoyuTaTh, NepeBecTH TEKCT MMCbMEHHO.
RADAR

One of the wonderful applications of electronics is radar.



Like other communication systems, radar (an acronym for radio detection and
ranging) did not emergel suddenly. Many researchers contributed to its development.

The reflection of radio waves from aircraft had been observed in England in
the early 1930s and the possibility for aircraft detection was discussed in 1934. It was
soon realized that radio waves would be the ideal alternative to the existing
inadequate acoustic warning equipment, which merely listened lor the sound of
aircraft engines and had too short a range for proper- warning of approach of last
aircraft. In contrast, experiments indicated that radar could give a warning when the
aircraft was 100 miles or more away. v

The principles of radar in a simplified form might he stated as follows;

1) electromagnetic radiation at high radio frequencies is used to detect and
locate remote reflecting objects;

2) the radiation is sent out in pulses of a few microseconds’ duration,
separated by intervals many times the duration of each pulse;

3) the pulses are returned from the reflecting objects and the returns are
detected and displayed by receiving equipment placed at the point of transmission;

4) the distance to the objects is determined by measurement of the time it
took the pulses to reach the targets from the transmission equipment and return to it;

5) the directions of the targets are determined by use of highly directive
radio antennas.

Radars were first developed for aircraft detection, ship detection, weapon-fire
control, navigation and identification systems. Many were later used in other sectors;
one of the examples is the weather forecasts, detection of storms.

2. CoCTaBHUTBH K TEKCTY 5 BONIPOCOB.

3. PackpbITh CKOOKH, HCIOJIb3YS IJ1aroJ B IACCHBHOM 3aJI0Te.
IlepeBenure npeaioKeHusl.
1.Switch on the radio. The President’s speech (broadcast) now.
2. My husband just (offer) an interesting job in this firm.
3. For two years Tyler (tell) that his brother was dead.
4. The injured man couldn’t walk and had (carry).
5. She (ask) to come here tomorrow, too.
6. The museum (not open) by last April.
7. Brian told me he (rob) in the street.

4. PackpoiiTe CKOOKH, ymoTpeO.Jisisl J1aroJibl B Tpedyromieiicsa popme
YCJOBHOT0 HakyI0oHeHud. IlepeBeaqure npenio:xxenns.

1. Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’ll begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out

if the weather gets warmer.
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5. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

5. BcraBuTh B MPEAJOKCHUEC HAPEIUEC WIH IIPpAJIAraTejbHOEC B Hy)KHOﬁ
CTCIICHU CPaBHECHMUI. HepeBez[uTe NMPEAJOKCHUI.

1. If you want to pass your exams, you should do your homework
(regularly).

2. David plays football and tennis much (well) than last year.

3. She always arrives at work much (early) than anyone else.

4.  The children are behaving far (badly) than they normally do.

5. Of all animals in the world, which one lives (long)?

6. He speaks French (fluently) than his sister.

6. 3anucatsp S -6 npennoxkenuit Ha Temy «Iloyemy 1 BbIOpaJ JaHHY IO
npodeccuro?»

Bapuant 4

1. HpO‘II/ITaTb NMEPEBECTU TEKCT INCbMEHHO.

FROM THE HISTORY OF TELEVISION

Unlike digital computers — which started out as mechanical devices and then
went through a brief electromechanical period during the 1930s, finally becoming
electronic only in the 1940s — television was an electrical medium from the very
beginnings.

Attempts to send images over distances with the use of electricity date to
1876, the year Alexander Graham Bell invented the telephone.

The first television invention that had practical consequences was the
“electrical telescope’’, patented by Paul Nipkowl in 1884. At the heart of his
camera was the now famous Nipkow disk. It had 24 holes equally spaced along a
spiral near the periphery of the disk. The image to be transmitted was focussed on a
small region at the disk’s periphery, and the disk was made to spin at 600
revolutions per minute. As the disk rotated, the sequence of holes scanned the image
in a straight line. A lens behind the image region collected the sequential light
samples and focussed them on a single selenium cell. The cell would then produce a
succession of currents, each proportional to the intensity of the light on a different
element of the image.

At the receiving end. Nipkow proposed using a magneto-optic (Fara- day-
effect) light modulator to vary the intensity of the reconstructed image. To form the
image, a second disk, identical to and rotating synchronously with the one at the
transmitter, would be needed.

One step closer to reality was Boris Rosing of the Technological In stitute of
St. Petersburg University in Russia, who in 1907 developed a TV system that used
mechanical scanning on the transmitting end and the Braun CRT as a receiver.

Zworykin’s most critical invention was the first iconoscope camera tube,
which he patented in 1923. The key to its success was the fact that its silvered-mica



photocathodes stored the charges induced by the image that was focussed on them
until the scanning electron beam simultaneously neutralized the charges and
modulated itself.

A year after he invented the iconoscope, Zworykin invented the kinescope —
a TV picture tube — thus becoming responsible for both the key transmitting and
receiving elements of electronic television.*

2. CocTaBUTBH 5 BOIIPOCOB K TEKCTY.

3. PackpbITh CKOOKM, HCII0JIb3YS IJIAroJ B NIACCMBHOM 3aJI0T€.
IlepeBeauTe nmpeasioKeHUs.

1. The telegram (receive) tomorrow.

2. | (give) a very interesting book last week.

3. He always (laugh at).

4. Nick (invite) to the conference last week.

5. Flowers (sell) in the shops.

6. This text (translate) from 5 p.m. till 7 p.m. yesterday.

4 . PackpoiiTe cCKOOKH, YOTPeOJIsisl IJIaroJibl B Tpedyromieiicsa popme
YCJI0BHOI0 HakJIOHeHus. [lepeBennTe npensioxenus.

1.  Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’ll begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

S. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

S. BcraBuTh B Ipely1osKeHHe HapeYue WM NpujiararejbHoe B HYKHOHU
CTCIICHU CPABHECHUA. HepeBezmTe NMPEAJOKCHU.
John is studying a lot (hard) than usual now that his exams are getting closer.
They normally play (well) than they did last night.
She runs (fast) of all the girls in her class.
Mike can play the guitar (well) than Sarah.
They arrived (early) than | had expected.
If he had driven (carefully), he wouldn't have got into an accident.

ook wndPE

6. 3anucats S -6 npennoxkenuii Ha Temy «Ilouemy s BbIOpaJ JaHHY IO
npodeccuro?»
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Bapuant S

1. HpO‘II/ITaTL NMEPEBECTU TEKCT INCbMEHHO.
COLOUR TELEVISION

The technical problems of colour television have been solved long ago — a
German patent for the transmission of images in colour was taken out by the
physicist, Otto von Bronk, as far back as 1902 — but the high cost of the equipment,
especially receivers, has held upl its general introduction. In America, television
programmes in colour have been transmitted since the early 1950°s to a limited
number of viewers who can afford2 the extra cost, and an experimental service began
in Britain in 1955. Japan started its regular colour service in the autumn of 1960: a
year later there were already 15,000 receiving sets in operation, although the price of
a colour set was still eight times as much as that of a black-and-white receiver. Then
the Soviet Union, too, has introduced a colour television service.

No doubt colour television will eventually supersede3 black-and-white
transmissions. But there are other revolutionary developments to come, such as the
“flat4 screen — it will replace the conventional receiver box with its cathode-ray
tube. The first screen, which can be hung on the wall like a picture, may be no more
than 2 to 3 inches thick. It has a fluorescent coating like conventional tubes, but the
electrons from the cathode move almost parallel with it instead of striking it at a right
angle. They start their journey from an electronic “gun$5 at the top behind the screen,
shooting downwards; at the bottom they are reflected by a “reversing lens to travel
vertically upwards along the screen, which they eventually hit by the influence of a
grid7 of conductors which accumulate electric charges from the electron beam
and give them off to the screen. The flat screen will be especially suitable for colour
reception.

2. CoCcTaBHTH 5 BONPOCOB K TEKCTY.

3. PackpbITh CKOOKH, MCIIOJIb3YS IJ1aroJ B IACCHBHOM 3aJI0Te.
IlepeBeanTe npenioKeHus.
1. Switch on the radio. The President’s speech (broadcast) now.
2 . My husband just (offer) an interesting job in this firm.
3. For two years Tyler (tell) that his brother was dead.
4. The injured man couldn’t walk and had (carry).
5. She (ask) to come here tomorrow, too.
6. The museum (not open) by last April.
7. Brian told me he (rob) in the street

4. PackpoiiTe CKOOKH, yOTpeOJisisi 1J1aroJibl B Tpedyromieiicsa popme
YCJI0BHOr0 HakJIoHeHus. [lepeBenuTe mpeasioxKeHus.

1. If the plane had left on time, they (be) in Minsk now.

2. If they hadn’t walked 40 km, they (not / be) exhausted
NOWw.

3. What would have become of us, if | (come) to you then!'




4. He would have been scrupulous — if he (can) !
5. What is the answer if you (add) 17 to 75?

5. BctaBurthb B NMPEAJI0KEHUE HAPECYHE UJIH NIPUJIAraTejibHO€E B Hy)I(HOﬁ
CTCIICHU CPaBHECHMUI. HepeBez[uTe NMPEAJOKCHUI.

Of all children Helen writes (fast).

She sings (beautifully) than anyone else I've ever heard.
Eight is late — could you possibly get here any (early)!

My mother cooks much (good) than me.

We have to walk (fast) than this if we want to catch the train.
Would you speak a bit (distinctly), please?

He doesn't play football now. He used to play (often).

Noohs~wdE

6. 3anucatsp S -6 npennoxenuit Ha Temy «Iloyemy s BbIOpaJ JaHHY IO
npodeccuro?»

Bapuanrt 6

1. HpO‘II/ITaTL NMEPEBECTU TEKCT INCbMEHHO.
DIGITAL TELEVISION

The so-called analogue systems of television are to be superseded by digital
systems in the near future. Using this new system, Soviet experts have managed to
encode and compress flows of visual information to the extent that the requirement in
the carrying capacity of communication channels has been cut by nearly 86 per cent.

The advantages of digital techniques over analogue electronic systems have
demanded that they be used in television. These advantages improve the quality of
the picture. While in the analogue system of recording signals noises and errors
invariably accumulate at every stage of their transmission or copying, digital
recording is almost free of signal errors.

How does digital television work? Basically it performs by splitting the
continuous analogue signal into a series of separate pulses. A continuously varying
electric signal generated by a usual broadcasting camera is fed into an electronic
device which converts it into pulses. These pulses represent binary recordings of the
signal’s values at any given moment. At the receiving end of the circuit, the digital
signal of binary pulses can be unscrambled back into the analogue signal which is
then fed into ordinary TV sets. But the advantages of digital techniques can
themselves be used in TV sets in order to improve their reception qualities
considerably.

Digital TV. however, has its disadvantages. The main one lies in the
tremendous scope of information to be transmitted. And it must be done at the rate of
216 million pulses per second. This great flow of information is rather difficult and
extremely expensive to transmit over great distances by the technical means available
today.

Soviet researchers studying this problem have found help in the principles they
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observed in living nature. And the efforts of Soviet researchers in this field are
internationally recognized.

2. COCTaBHUTBH 5 BONPOCOB K TEKCTY

3. PaCKpLITL CK06KI/I, HCIMOJIB3YH IJ1aroJ B IaCCUBHOM 3aJ10T€.
HepeBezmTe NMPEIJI0KCHUS.
. Our mother already (give) a present.
. The letter (send) before they arrived.
. His new book (finish) by next year.
. Many houses (burn) during the fire.
. Doctors (give) a new pay rise by the government.
. Usually | (pay) my salary twice a month.

OO0k WNE

4 . PackpoiiTe cKOOKH, yOTpPeOJIfAs IJ1aroJibl B Tpedyromieiicsa popme
YCJI0BHOI0 HakJIoOHeHus. [lepeBennTe npensioxenus.

1. If Felix (to be) here | would have seen him.

2. Michael would not agree even if you (to ask) him.

3. If they (mention) this yesterday, everything would have
been done.

4, If I (to find) that letter, I’ll show it to you.

5. If I meet him, | (to invite) him.

5. BcraBuTh B npeliiosKeHHe HapeYue WIH NPUJararejibHoe B HYKHOU
CTCIICHU CPABHCHMUA. HepeBezmTe NMPEeAJ0KCHUS.

1)  You are standing too near the camera. Could you move a bit (far) away?

2)  The (much) you read, the (soon) you enlarge your vocabulary.

3)  They put out the fire much (quickly) than we had expected.

4)  These days he takes all the things (seriously).

5)  Your Chinese is improving. It's getting ... (good).

6) It's becoming ... (hard) to find a job.

6. 3anucats S -6 npeasnoxkenuii Ha Temy «Ilouemy s BbIOpaJ JaHHY IO
npodeccuio?»

Bapuant 7

1. IIpoyuTaTrh NepeBecTH TEKCT MUCHEMEHHO.
LASER

Laser is a wonder child of quantum physics. Quantum physics came into being
in 1954 when Soviet scientists Alexander Prokhorov and Nikolai Basov in the USSR
and Charles Towns in New York simultaneously and independently discovered the
generation of radio waves in molecular beams.

A laser is a quantum electronic device. It is a machine for making and
concentrating light waves into a very intense beam. The letters LASER stand for



Light Amplification by Stimulated Emission of Radiation. The light made by a laser
IS much more intense than ordinary light. With ordinary light, all the light waves are
of different lengths. With lasers, all the light waves are of the same length, and this
increases the intensity.

Laser is an extremely, simple-looking device. It is nothing more than a cylinder
of synthetic ruby about 1/4 inches in diameter and 1 1/2 inches long mounted in the
centre of a spiral coil of glass. The coil is a xenon-filled flash tube, very much like
the ones used by photographers for taking flash pictures.

At one end of the tube there is a mirror, and at the other end of the tube there is
a partial mirror.

The laser beam is made by exciting the atoms of a suitable material — ruby is
one — until most of the atoms have electrons orbiting in a higher energy level than
usual. The excitation is then stopped and all the excited electrons fall back together,
to their normal orbits, each one emitting a pulse of light of the same energy. In this
way an 11 intense beam of light is generated for a very short time. And every pulse
or wave-train in this beam is in step with2 every other pulse. In this way a beam of
light is obtained which is both monochromatic and coherent and easy to focus. The
mirror at one end of the tube reflects this light. It can only escape at the other end of
the tube.

2. CocTaBHTH 5 npeI0KeHU K TEKCTY.

3. PackpbITh CKOOKH, HCMOJIb3YS IJIAr0J B MACCUBHOM 3aJ10Te€.
IlepeBeauTe npenioKeHu.

. The telegram (receive) tomorrow.

. | (give) a very interesting book last week.

. He always (laugh at)

. Nick (invite) to the conference last week.

. Flowers (sell) in the shops.

. This text (translate) from 5 p.m. till 7 p.m. yesterday.

OO WN -

4 . PackpoiiTe CKOOKH, YOTPeOJIsisl 1JIaroJibl B Tpedyromeiicsa popme

yCJI0BHOTO HakJIoHeHus1. [lepeBenuTe npensioxkeHust.
1.Would they come if we (to invite) them?

2.The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’1l begin the lesson as soon as Jack
(stop) talking.”

4. The old gentleman doesn’t go out in winter. He (go) out if
the weather gets warmer.

5. She’s flying to Cairo tomorrow. She’ll send her family a telegram providing
she (arrive) with a delay.
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5. BcTtaBuTh B NIpeAJIOKEeHHE HAPeYHe WM NPWJIarateJibHoOe B HYKHOM
creneHnu cpapHenus. IlepeBeaure npeasioxkeHus.

1) The suitcases seemed to get ... (heavy) as | carried them along the road.
2) The hole in your cardigan is getting ... (big).

3) As the day went on, the weather got ... (bad).

4) Nowadays travelling is becoming ... (expensive).

5) These days ... (many)people are learning English.

6) Since mv brother has been in Spain, his Spanish is getting ... (good).

7) As far as | know, he is ... (satisfied) with his job.

6. 3anucatsp 5 -6 npeanoxkenuii Ha Temy «Ilouemy s BbIOpPAJ JaHHY IO
npogeccuro?»

Bapuant 8

1. HpO‘II/ITaTL NMEPEBECTU TEKCT INCbMEHHO.

WHAT IS THE LASER USED FOR?

The range of the lasers use is expanding with every passing year. The use of
picosecond laser pulses will help to build faster and more powerful microchips,
information circuits and computers by mapping more exactly the routes electrons take
through semiconductor materials, the rates they travel and the effects of impurities.*

New lasers will help research on interactions among molecules in liquids.

Lasers are widely used in medicine. In Moscow an All Union Centre for Using
Lasers in Surgery has been set up. The first step was made in 1970 by Professor A.
Vishnevsky who used a small-capacity laser in stallation experimenting on animals .

Soviet scientists have produced Scalpel-1 installation which is widely used in
our country and is exported to many other countries.

Lasers are used in biology and in agriculture. Soviet scientists, have developed
a new instrument - the laser projection microscope (the work received the USSR
State Prize). The tremendous brightness of laser radiation makes it possible to project
clear images of microobjects onto large screens, magnified 15,000 times.

Laser beams make it possible not only to transmit light energy over great
distances, but also to encase it in very thin glass filaments-waveguides. It is possible
to transmit simultaneously thousand telephone conversations and many TV
programmes over a single guide a tenth of a millimeter thick.

In the production of electronic components lasers are used in such operations
as microwelding, resistor trimming, etc., something that can be performed perfectly
well today. Technological lasers are coming into use in tempering metal instruments
and other surfaces subjected to considerable strain, making their service life several
times longer, in low-waste cutting of workpieces, and reliability welding.

The use of laser methods for non-impact diagnostics has allowed production of
systems for precision measurements.

2. CocTaBUThH K TEKCTY S5 BOINIPOCOB.



3. PackpbITh CKOOKH, HCOJIb3YS IJIAr0J1 B MACCUBHOM 3aJ10re.
IlepeBenuTe npeaIoKeHUs.

1. The telegram (receive) tomorrow.

2. 1 (give) a very interesting book last week.

3. He always (laugh at)

4. Nick (invite) to the conference last week.

5. Flowers (sell) in the shops.

6. This text (translate) from 5 p.m. till 7 p.m. yesterday.

4. PackpoiiTe CKOOKH, YOTpPeO.isisi 1J1arojibl B Tpedyromieiicsa popme
YCJOBHOr0 HakyI0oHeHud. IlepeBeaqure nmpeaio:xxenus.

1.  Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’ll begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

S. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

5. BcraBuTh B IpeliiosKeHHe HapeYue WIH NPpUjiararejibHoe B HYKHOU
crenenu cpasHenus. IllepeBeaure npeanoxeHus.

1)  It's becoming (hard) and (hard) to find a job.

2)  Your work isn't very good. I'm sure you can do (well) than this.

3)  You're standing too near the camera. Can you move a bit (far) away?

4) Martin drove (slowly) than usual.

5)  Wehave to walk (fast) than this if we want to catch the train.

6)  This word is (widely) used in spoken English than in written.

6. 3anucats S -6 npensnoxkenuii Ha Temy «Ilouemy s BbIOpaJ JaHHY IO
npodeccuro?»

Bapuaurt 9

1. IIpoyuTaTrh NepeBecTH TEKCT MUCHEMEHHO.
SOME MORE ABOUT LASERS

Over the past decade, Edinburgh Instrumentsl have proved themselves to be
leading technical innovators in the field of infra-red gas lasers. The PL series of
lasers produced by Edinburgh Instruments are ideally suited to a large number of
applications, in the scientific, industrial and medical fields. The wide tuning range
and excellent frequency stability of the PL series make them ideal tools for high
resolution molecular spectroscopy (Stark and Zeeman effects, magnetic resonance,
double resonance, opto-acoustic spectroscopy, matrix isolation techniques) and solid
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state spectroscopy (non-linear optics, mixing, spin flip Raman scattering; non-linear
absorption and dispersion; optical bistability; magneto-optics; spin resonance).

The high stability of any Edinburgh Instruments laser are highly desirable
characteristics for infra-red interferometers used in testing distortion and deformation
of transmitting materials, lenses and optical surfaces.

The PL series can be used in long term studies of atmospheric conditions, they
are particularly suitable for pollution detection and monitoring.

Laser applications in industry are centred around cutting, drilling, welding and
soldering operations. Lasers have many advantages over conventional machine tools.
Laser machining is a non-contact process. This means that there is no material
distortion, there are no tooling costs and no cutting fluid requirements, which means
cleaner work areas and less time required for cleaning finished parts.

There is no swarf, since the material is evaporated and can be removed with an
extractor fan'. The excellent beam quality ensures the laser output can be focussed to
a small diameter spot (less than 50 microns) giving extremely high, localised
intensities. Wastage is eliminated by ensuring that a minimum of material is removed
during machining operation.

A wide range of functions can be performed by the same laser, by using it in
any of its three modes of operation: continuous beam, chopped or pulsed.

2. CoCTaBHTB K TEKCTY 5 BOIIPOCOB.

3. PackpbITh CKOOKH, HCMOJIb3YS IJIAroJ B MAaCCUBHOM 3aJ10Te.
IlepeBeanTe npenioKeHus.
Switch on the radio. The President’s speech (broadcast) now.
. My husband just (offer) an interesting job in this firm.
. For two years Tyler (tell) that his brother was dead.
. The injured man couldn’t walk and had (carry).
. She (ask) to come here tomorrow, too.
. The museum (not open) by last April.
. Brian told me he (rob) in the street

NoabkowdE
~No Uk wWN

4. PackpoiiTe CKOOKH, yoTpeOJIsisl 1J1aroJjibl B Tpedyromieiicsa popme
YCJOBHOT0 HakyI0oHeHud. [lepeBenure npenio:xxenus.

1. Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’1l begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

5. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

6.



5. BcTtaBuTh B npeaJioskeHHe HApeYue Wi NpujiararejbHoe B HYKHOM
CTCIICHU CPAaBHECHMI. HepeBezmTe NMPEAJOKCHUI.

1)  Let me ask him. I know him (well) than you do.

2)  Jimdid (badly) in his examination than he had hoped.

3)  Could you speak a bit (distinctly), please?

4) | don't play tennis much now. | used to play (often).

5)  Weshould run (fast) if we want to catch the bus.

6)  The Earth goes round the Sun (quickly) than the Jupiter

6. 3ammcarsp S -6 npensioxkennii Ha Temy «Iloyemy s1 BbIOpaJ JaHHYIO
npogdeccuro?»

Bapuant 10

1. HpO‘II/ITaTL MNEPEBECTHU TEKCT IIUNCbMECHHO.
MICROFXECTRONICS

Microelectronics is the technology of constructing electronic circuits and
devices in extremely small packages by various techniques. *This tech nology is also
referred to as microminiaturization.

The increasing complexity of electronic systems over the past 30 years has
made the evolution of microelectronics inevitable.* During this period, the electron
tubes in the early electronic systems have been replaced b\ solid state discrete devices
and integrated circuitry: and these, in turn, are giving way to medium- and large-scale
integrated circuitry."

Microelectronics today encompasses  thin-film, thick-film, hybrid, and
integrated circuit technology. These approaches (and combinations of them) are being
applied in every branch of electronics.

Integrated circuits that combine all the elements of a complete electronic
circuit on a single chip of silicon can be produced. The implications of this in the
microelectronic evolution are easily demonstrated. Let us compare a conventional
J/IK. nip-flop circuit-incorporating solid-state discrete devices and the same type of
circuit employing integrated circuitry.

The conventional circuit would require approximately 40 separate discrete
elements, 200 connections, 40 hermetic seals, and 300 separate processing
operations, with each operation, seal, and connection representing a possible source
of failure.* However, if all the elements of this circuit are integrated upon one chip of
silicon, the number of connections drops to about 14. All circuit elements are
interconnected inside the package by a process known as vapour metallization;
instead of 40 hermetic seals there is one, and the three hundred processing operations
are reduced to approximately 30.

Before the actual fabrication of the integrated circuit begins, the silicon-
crystal must be sliced into paper-thin wafers. The wafers must be lapped and polished
on one side that is to be used for the active elements. Unless special processing is
involved, the back side of the wafer is left in the lapped state.

Both sides of the wafer are lapped simultaneously with an abrasive (usually
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aluminium oxide) until all visible traces of the saw cuts are removed.* One side of
the wafer is then polished several times with slurries of abrasive grit.3 A grit of
smaller size is used for each succeeding polishing step. Finally, the wafer is
chemically etched to remove any irregularities in the surface resulting from the last
polishing step.

The diffusion process begins when the highly polished silicon is placed in an
oven, containing impurity atoms which yield the desired electrical characteristics.
When the wafer has been uniformly doped, the fabrication of semiconductor devices
may begin. Several hundred circuits are produced simultaneously on the wafer.

2. CoCcTaBUTB K TEKCTY D BONPOCOB.

3. PackpbITh CKOOKH, HCIOJIb3YS IJIAr0J1 B MACCUBHOM 3aJ10Te.
IlepeBennTe npeaioKeHU.
. The telegram (receive) tomorrow.
. | (give) a very interesting book last week.
. He always (laugh at)
. Nick (invite) to the conference last week.
. Flowers (sell) in the shops.
. This text (translate) from 5 p.m. till 7 p.m. yesterday.

OOk WN B

4 . PackpoiiTe cCKOOKH, YIOTPeOJIsisl IJ1aroJibl B Tpedymomeicsa popme
YCJIOBHOT0 HaKJIO0HeHus. IlepeBeauTe npeasio:keHus.

1. If the plane had left on time, they (be) in Minsk now.

2. If they hadn’t walked 40 km, they (not / be) exhausted
now.

3. What would have become of us, if | (come) to you then!'

4, He would have been scrupulous — if he (can) !

5 What is the answer if you (add) 17 to 75?

5. BcTaBuTh B npeJioskeHUe Hapeyue UK NpujararejbHoe B HYKHOM
CTCIICHU CPABHECHUA. HepeBezmTe NMPEAJOKCHU.

1)  If you want to pass your exams, you should do your homework
(regularly).

2)  David plays football and tennis much (well) than last year.

3)  She always arrives at work much (early) than anyone else.

4)  The children are behaving far (badly) than they normally do.

5)  Ofall animals in the world, which one lives (long)?

6)  He speaks French (fluently) than his sister.

6. 3anmmcatsp S -6 npensioxkenunii Ha Temy «Iloyemy st BbIOpas JaHHYIO
npogeccuro?»



Bapuant 11

1. IIpounTaTrh nepeBecTH TEKCT MUCbMEHHO.
THE TRANSISTOR

The transistor is basically a three-section device composed of two outside
sections and a middle section. The two outside sections are doped so that they are
either P- or N-type, and the middle section is doped opposite to the outside sections.
Transistors are typed as NPN or PNP according to the doping of the sections or
elements. When the two outside sections are N-type semiconductors and the middle
section is a P-type, the transistor is an NPN-type. When the two outside sections are
P-types and the middle is N-type, the transistor is PNP-type.

The centre section of the transistor is thinner than the outside sections and is
called the base One of the outside sections is called the emitter, and the other is called
the collector. The functions of the emitter, base and collector can be compared to
those of the cathode, grid and plate of a triode vacuum tube. These can be
summarized as follows:

Emitter emits the current carriers, electrons or holes.

Base controls the current from the emitter.

Collector attracts or collects the carriers from the emitter.

Transistors are often classified according to the amount of power which they
can dissipate.

There are many types of transistors as to their fabrication. For example,
junction transistors are fabricated by various techniques which involve alloy,
diffusion or growth processes. From hence different names of transistors: grown-
junction transistor, alloy-junction transistor, diffused-junction transistor, double-
diffused planar type.

Transistors are made from germanium or silicon. The same general
characteristics are common to both types, but the temperature operating range of a
silicon transistor is wider than that of a germanium transistor.

2.CocTaBuTH 5 NpeAI0KEeHUI K TEKCTY.

3. PaCKpLITL CKOﬁKIfI, HUCIOJIb3YA IJ1aroJ1 B IaCCUBHOM 3aJ10T€.
IlepeBeauTe npenioKeHu.
. The telegram (receive) tomorrow.
. | (give) a very interesting book last week.
. He always (laugh at)
. Nick (invite) to the conference last week.
. Flowers (sell) in the shops.
. This text (translate) from 5 p.m. till 7 p.m. yesterday.

SOOIk WNBE

4. PackpoiiTe CKOOKH, yoTpeOJisisl IJ1aroJibl B Tpedymomieiicsa popme
YCJOBHOT0 HakyIoHeHud. [lepeBenure mpeaioxxenns.
1. Would they come if we (to invite) them?
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2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’ll begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

5. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

5. BctaBuTh B npeaJioskeHHe HApeYue Wi NpujiararejbHoe B HYKHOM
creneHu cpaBHeHus. [lepeBeaure npeasioxKeHus.

1)  John s studying a lot (hard) than usual now that his exams are getting
closer.

2)  They normally play (well) than they did last night.

3)  She runs (fast) of all the girls in her class.

4)  Mike can play the guitar (well) than Sarah.

5)  They arrived (early) than | had expected.

6) If he had driven (carefully), he wouldn't have got into an accident.

7)  Ofall children Helen writes (fast).

6. 3anucatsb 5 -6 npeanoxkenuii Ha Temy «Ilouemy s BbIOpAJ JaHHY IO
npodeccuro?»

Bapuant 12

1. IIpoyuTaTrh NepeBecTH TEKCT MUCHbMEHHO.
WHAT IS A LASER?

Laser is a wonder childl of quantum physics. Quantum physics came into
being in 1954 when Soviet scientists Alexander Prokhorov and Nikolai Basov in the
USSR and Charles Towns in New York simultaneously and independently
discovered the generation of radio waves in molecular beams.

A laser is a quantum electronic device. It is a machine for making and
concentrating light waves into a very intense beam. The letters LASER stand for
Light Amplification by Stimulated Emission of Radiation. The light made by a laser
is much more intense than ordinary light. With ordinary light, all the light waves are
of different lengths. With lasers, all the light waves are of the same length, and this
increases the intensity.

Laser is an extremely, simple-looking device. It is nothing more than a
cylinder of synthetic ruby about 1/4 inches in diameter and 1 1/2 inches long
mounted in the centre of a spiral coil of glass. The coil is a xenon-filled flash tube,
very much like the ones used by photographers for taking flash pictures.

At one end of the tube there is a mirror, and at the other end of the tube there
Is a partial mirror,

The laser beam is made by exciting the atoms of a suitable material —
ruby is one — until most of the atoms have electrons orbiting in a higher energy level



than usual. The excitation is then stopped and all the excited electrons fall back
together, to their normal orbits, each one emitting a pulse of light of the same energy.
In this way an 11 intense beam of light is generated for a very short time.* And every
pulse or wave-train in this beam is in step with2 every other pulse. In this way a beam
of light is obtained which is both monochromatic and coherent and easy to focus. The
mirror at one end of the tube reflects this light. It can only escape at the other end of
the tube.

Laser beams carry surprisingly intense amounts of energy and so they can be
dangerous to living tissue. It is therefore necessary to protect the human eye, when
laser beams are being used. The damage can be done very quickly, so protection from
accident is very necessary.

A laser beam carries its energy in a compact form, until it is absorbed when it
strikes something opaque.

2. CocTaBUTb K TEKCTY 5 BOIPOCOB.

3. PackpbITh CKOOKH, MCIOJIb3YS IV1ar0J1 B IACCHBHOM 3aJI0T€.
IlepeBenuTe nmpeaioKeHU.

. Our mother already (give) a present.

. The letter (send) before they arrived.

. His new book (finish) by next year.

. Many houses (burn) during the fire.

. Doctors (give) a new pay rise by the government.

. Usually | (pay) my salary twice a month.

OO0k WNE

4. PackpoiiTe CKOOKH, YOTPeO.Isisl IJ1aroJibl B Tpedymomieiicsa popme
YCJOBHOT0 HakyIoHeHud. [lepeBeaqure npeaioxxenus.

1. Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’ll begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

S. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

5. BcTaBuTh B NpeAsioKeHHe HapeYue Wi MPWIaraTteJbHoe B HYKHOM
CTCIICHU CPABHCHMUAA. HGPEBGHHTG NMPEeAJO0KCHUS.

1)  She sings (beautifully) than anyone else I've ever heard.

2)  Eightis late — could you possibly get here any (early)!

3) My mother cooks much (good) than me.

4)  We have to walk (fast) than this if we want to catch the train.

5)  Would you speak a bit (distinctly), please?

6)  He doesn't play football now. He used to play (often).

28



6. 3anmmcatsp S -6 npensioxkennii Ha Temy «Iloyemy st BbIOpas JaHHYIO
npodgeccuro?»

Bapuanr 13

1. HpO‘ll/ITaTL nmepeBecTu TEKCT MUCbMEHHO.

Microelectronics is the technology of constructing electronic circuit and
devices in extremely small packages by various techniques. *This technology is also
referred to as microminiaturization.

The increasing complexity of electronic systems over the past 30 years has
made the evolution of microelectronics inevitable.* During this period, the electron
tubes in the early electronic systems have been replaced b\ solid state discrete devices
and integrated circuitry: and these, in turn, are giving way to medium- and large-scale
integrated circuitry."

Microelectronics today encompasses2 thin-film, thick-film, hybrid, and
integrated circuit technology. These approaches (and combinations of them) are being
applied in every branch of electronics.

Integrated circuits that combine all the elements of a complete electronic
circuit on a single chip of silicon can be produced. The implications of this in the
microelectronic evolution are easily demonstrated. Let us compare a conventional
J/IK. nip-flop circuit-incorporating solid-state discrete devices and the same type of
circuit employing integrated circuitry.

The conventional circuit would require approximately 40 separate discrete
elements, 200 connections, 40 hermetic seals, and 300 separate processing
operations, with each operation, seal, and connection representing a possible source
of failure.* However, if all the elements of this circuit are integrated upon one chip of
silicon, the number of connections drops to about 14. All circuit elements are
interconnected inside the package by a process known as vapour metallization;
instead of 40 hermetic seals there is one, and the three hundred processing operations
are reduced to approximately 30.

*Before the actual fabrication of the integrated circuit begins, the silicon-
crystal must be sliced into paper-thin wafers. The wafers must be lapped and polished
on one side that is to be used for the active elements. Unless special processing is
involved, the back side of the wafer is left in the lapped state.

2. CocTaBUTB K TEKCTY S BOIIPOCOB.

3. Packpoiite cko0ku, ynorpedJisis riarojbl B Tpedywiueiicsa gopme
yCJI0BHOI0 HaK/JIoHeHus. [lepeBeaure npeasioxkenus.

1. If Felix (to be) here | would have seen him.

2. Michael would not agree even if you (to ask) him.

3. If they (mention) this yesterday, everything would have been
done.

4. IfI (to find) that letter, I’1l show it to you.

5. If I meet him, I (to invite) him.



4.PacKkpbITh CKOOKH, HCIOJIB3YH IJIAroJ B maccuBHoM 3aJjiore. IlepeBeaure
NMpeaAJd0KCHUA.

1. Our mother already (give) a present.

2. The letter (send) before they arrived.

3. His new book (finish) by next year.

4. Many houses (burn) during the fire.

5. Doctors (give) a new pay rise by the government.

6. Usually | (pay) my salary twice a month.

S.BcTaBuTh B NpeAJIOKEeHHE HAPeYHe WM NPWIarareJibHoe B HYKHOM
creneHu cpaBHeHus. [lepeBeauTe npeasioxKeHus.

1) He doesn't play football now. He used to play (often).

2) You are standing too near the camera. Could you move a bit (far) away?

3) The (much) you read, the (soon) you enlarge your vocabulary.

4) They put out the fire much (quickly) than we had expected.

5) These days he takes all the things (seriously).

6)Your Chinese is improving. It's getting ... (good).

6. 3anucatsp S -6 npeanoxenuit Ha Temy «Iloyemy 1 BbIOpaJ JaHHY IO
npodeccuro?»

Bapuant 14

1. IIpouyurarh, NepeBeCcTH TEKCT MUCHMEHHO.

The range of the lasers use is expanding with every passing year. The use of
picosecond laser pulses will help to build faster and more powerful microchips,
information circuits and computers by mapping more exactly the routes electrons take
through semiconductor materials, the rates they travel and the effects of impurities.*

New lasers will help research on interactions among molecules in liquids.

Lasers are widely used in medicine. In Moscow an All Union Centre for Using
Lasers in Surgery has been set up. The first step was made in 1970 by Professor A.
Vishnevsky who used a small-capacity laser in stallation experimenting on animals .

Soviet scientists have produced Scalpel-1 installation which is widely used in
our country and is exported to many other countries.

Lasers are used in biology and in agriculture. Soviet scientists, have developed
a new instrument - the laser projection microscope (the work received the USSR
State Prize). The tremendous brightness of laser radiation makes it possible to
project clear images of microobjects onto large screens, magnified 15,000 times.

Laser beams make it possible not only to transmit light energy over great
distances, but also to encase it in very thin glass filaments-waveguides. It is possible
to transmit simultaneously thousand telephone conversations and many TV
programmes over a single guide a tenth of a millimeter thick.

In the production of electronic components lasers are used in such operations
as microwelding, resistor trimming, etc., something that can be performed perfectly
well today. Technological lasers are coming into use in tempering metal instruments
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and other surfaces subjected to considerable strain, making their service life several
times longer, in low-waste cutting of workpieces, and reliability welding.

The use of laser methods for non-impact diagnostics has allowed production
systems for precision measurements.

2.CocTaBUTB K TEKCTY 5 BONIPOCOB.

3.PackpoiiTe CKOOKH, MCIOJIL3YSl IV1Ar0J1 B MAaCCUBHOM 3aJI0re.
IlepeBeauTe nmpeasioKeHUs.

1.Switch on the radio. The President’s speech (broadcast) now.

2.My husband just (offer) an interesting job in this firm.

3.For two years Tyler (tell) that his brother was dead.

4.The injured man couldn’t walk and had (carry).

5.She (ask) to come here tomorrow, too.

6.The museum (not open) by last April.

7.Brian told me he (rob) in the street.

4. PackpoiiTe CKOOKH, yoTpeOJisisl 1JIaroJibl B Tpedyromeiicsa popme
YCJI0BHOI0 HakJIoHeHus. [lepeBennTe npensioxenus.

1. If Felix (to be) here | would have seen him.

2. Michael would not agree even if you (to ask) him.

3. If they (mention) this yesterday, everything would have
been done.

4, If I (to find) that letter, I’ll show it to you.

5. If I meet him, | (to invite) him.

S5.BcTaBuUTH B peAJIOKeHHEe HApeYHe WM MPUIaraTeJbHoe B HYKHOM
CTCIICHU CPABHECHMA. HepeBe}luTe NMPEAJOKCHU.

1) It's becoming (hard) and (hard) to find a job.

2)  Your work isn't very good. I'm sure you can do (well) than this.

3)  You're standing too near the camera. Can you move a bit (far) away?

4) Martin drove (slowly) than usual.

5)  We have to walk (fast) than this if we want to catch the train.

6)  This word is (widely) used in spoken English than in written.

6. 3anmucats S -6 npensioxkenuit Ha Ttemy «Iloyemy s1 BEIOpaJI JaHHYIO
npodeccuio?»

Bapuanr 15

1. IIpouurarh, nepeBecTH TEKCT NUCHMEHHO.

Unlike digital computers — which started out as mechanical devices and then
went through a brief electromechanical period during the 1930s, finally becoming
electronic only in the 1940s — television was an electrical medium from the very
beginnings.



Attempts to send images over distances with the use of electricity date to
1876, the year Alexander Graham Bell invented the telephone.

The first television invention that had practical consequences was the
“electrical telescope’’, patented by Paul Nipkowl in 1884. At the heart of his
camera was the now famous Nipkow disk. It had 24 holes equally spaced along a
spiral near the periphery of the disk. The image to be transmitted was focussed on a
small region at the disk’s periphery, and the disk was made to spin at 600
revolutions per minute. As the disk rotated, the sequence of holes scanned the image
in a straight line. A lens behind the image region collected the sequential light
samples and focussed them on a single selenium cell. The cell would then produce a
succession of currents, each proportional to the intensity of the light on a different
element of the image.

At the receiving end. Nipkow proposed using a magneto-optic (Fara- day-
effect) light modulator to vary the intensity of the reconstructed image. To form the
image, a second disk, identical to and rotating synchronously with the one at the
transmitter, would be needed.

One step closer to reality was Boris Rosing of the Technological In stitute of
St. Petersburg University in Russia, who in 1907 developed a TV system that used
mechanical scanning on the transmitting end and the Braun CRT as a receiver.

Zworykin’s most critical invention was the first iconoscope camera tube,
which he patented in 1923. The key to its success was the fact that its silvered-mica
photocathodes stored the charges induced by the image that was focussed on them
until the scanning electron beam simultaneously neutralized the charges and
modulated itself.

A year after he invented the iconoscope, Zworykin invented the kinescope —
a TV picture tube — thus becoming responsible for both the key transmitting and
receiving elements of electronic television.

2. CocTaBuUTH K TEKCTY 5 BONIPOCOB.

3. PackpbITh CKOOKH, HCIOJIB3YH IJIAr0J1 B NACCMBHOM 3aJI0re.
IlepeBeanTe npenioKeHus.
. The telegram (receive) tomorrow.
. | (give) a very interesting book last week.
. He always (laugh at)
. Nick (invite) to the conference last week.
. Flowers (sell) in the shops.
. This text (translate) from 5 p.m. till 7 p.m. yesterday.

OOl WN -

4. PackpoiiTe CKOOKH, yoTpeOJisisi IJ1aroJibl B Tpedyromieiicsa popme
YCJI0BHOI0 HakJIoOHeHus. [lepeBennTe npensioxkenus.

1. If the plane had left on time, they (be) in Minsk now.

2. If they hadn’t walked 40 km, they (not / be) exhausted
now.

3. What would have become of us, if | (come) to you then!'

4. He would have been scrupulous — if he (can) !
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5. What is the answer if you (add) 17 to 757

5.BcraButhb B NMPEAJIOKECHUEC HAPECYUEC NJIH IPUJIATraTECJIbHOEC B Hy)KHOﬁ
CTCIICHU CPAaBHECHMI. HepeBe[mTe NMPEAJTOKCHHUS.

1)  Let me ask him. I know him (well) than you do.

2)  Jimdid (badly) in his examination than he had hoped.

3)  Could you speak a bit (distinctly), please?

4) | don't play tennis much now. | used to play (often).

5)  Weshould run (fast) if we want to catch the bus.

6)  The Earth goes round the Sun (quickly) than the Jupiter.

7)  If you want to pass your exams, you should do your homework
(regularly).

6. 3anucatsp S -6 npennoxenuit Ha Temy «Iloyemy s BbIOpaJ JaHHY IO
npogeccuro?

Bapuaur 16

1. IIpouuTraiiTe, nepeBeauTe TEKCT NMCbMEHHO.

Electronics is a rather young science. It belongs to the twentieth century.
Within a short period it has become a powerful means of progress. Electronics
surrounds us everywhere. Television, radio-receiving, taperecording — are all based
on electronics. The ideas of electronics are embodied in computer technology and
means of automation, biology and genetics which have advanced biotechnology as a
new branch of the national economy. Electronic computers are widely used in
scientific research and different fields of industry. Very complicated electronic
systems control the work of huge plants and power stations; even whole industries are
controlled by electronic robots. Planes and rockets also electronically controlled.
Electronics has sharpened our vision and chance to see the microworld more clearly.
It helps us discover new and puzzling phenomena of nature. Due to electronics the
first man-made sputnik was launched into space, and now man has already set his
foot on the Moon, sends probes to distant planets. Radioelectronic systems ensure
reliable communication with space probes at distances of millions of kilometers,
relay telephotos of distant planets. The greatest application of electronics is in the
field of communications. The range of radio communication in space is extending
more and more. There is every reason to believel that radio links may be set over
distances of 100 million kilometers or even more. Now we cannot imagine our life
without electronics. But it all began with the invention of radio. It was Russian
scientist A.S. Popov who discovered the principles of wireless communication that
finally led to the development of electronic tubes for use in various communication
devices.

2. CocTaBuUTBb K TEKCTY 5 BONIPOCOB.



3. PackpbITh CKOOKH, HCIOJIB3YS IJIAroJl B IACCMBHOM 3aJ10Te.
IlepeBeanTe npenioKeHU.
. Our mother already (give) a present.
. The letter (send) before they arrived.
. His new book (finish) by next year.
. Many houses (burn) during the fire.
. Doctors (give) a new pay rise by the government.
. Usually | (pay) my salary twice a month.

OOk WN B

4. PackpoiiTe CKOOKH, yoTpeOJisisi 1J1arojibl B Tpedyromeiicsa popme
yCJI0BHOI0 HakJIoHeHus. [lepeBennTe npensioxkenus.

1.  Would they come if we (to invite) them?

2. The boss (be) very disappointed if you aren’t at the meeting
tomorrow.

3. The teacher said, “I’ll begin the lesson as soon as Jack
(stop) talking.”

4, The old gentleman doesn’t go out in winter. He (go) out
if the weather gets warmer.

S. She’s flying to Cairo tomorrow. She’ll send her family a telegram
providing she (arrive) with a delay.

S.BcraBuTh B IpeyI0KeHHEe HapeYue WIH NPWIaraTejbHoe B HYKHOU
CTCIICHU CPABHCHMIA. HepeBezmTe NMPEeAJ0KCHUS.

1)  David plays football and tennis much (well) than last year.

2)  She always arrives at work much (early) than anyone else.

3)  The children are behaving far (badly) than they normally do.

4)  Ofall animals in the world, which one lives (long)?

5)  He speaks French (fluently) than his sister.

6)  Johnis studying a lot (hard) than usual now that his exams are getting
closer.

7)  They normally play (well) than they did last night.
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